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g, ggobbboooobboooooobon.

ggodooooooooboobobbbobobobbo, 00000, oo oOooOoa
OO000D0O000. O0O0O00O0DO0b0o000D0. 000D0b000 emall 00O
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1 0o0ooo

goodododoododoo,0diUUU. oo UOod
gooooooo,boooooodddoooooooLD oL D0 d@
goodod,bbbboooooooooogoo,bbbbbbbbbbboboooooon
ggobobboooooboboooon.

1.1 O0OOooood

gboooboboo,oo0bdob =00 +00000000.0b00bo0obg,boaon
g, gobbboooobobodoobooboooooobooa.

00.00 $O000000000 000 (power set) 000,25 000 P(S)000:

25 =p(S) = {U | U c S}.

00 1.1.1 S000000. 4c25000 (1)-(3) 000000, (S,4) 00000
(topological space) 000000, 40 SO OO (topology) 000 :

(1) o, Sed,
(2) Ul,UQGL[ = UiNU; e,
(3) VAe AUy el = UyeaUy € 4.

00 1.1.2 AcSO00000 (S,4) 0000 (openset) 00, Ae00000.

0000000.00p:8xS—Rse000 (1)-(3) 000000, (S,p)0 0000
(metric space) 000000, p0 SO 00 (metric) 000

(1) p(a,b) =0« a =0,
(2) Va,be S, p(a,b) = p(b,a),
(3) Va,b,ce S, p(a,c) < p(a,b) + p(b,c).

000,Ac SO (S,p)000000,00000000:Va€A,3e>0:B.(a)C A,
000 Be(a) 0D « D000 e-00 OO0 (iee., Be(a) :={s €S |pla,s) <e}).

00 1.1.3 0000 (S,p)000,4:={AcS|AO (S,p)0000 }0 SO00.

00 1.1.4 4:=250 SO00000 (000 0000 000). 4:={¢,5}0 S0
00000 (000 0000 000).

00 1.1.5 (S,4) 0000000,ACSO0000,4,:={ANU|Uey}O0 SODO
0000 (0000000 000).
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OO0,R"O00000D0OC00O0OO00OO0,R*"O 000000 ODO00DOOOOO. D00
0o00o0,R*"0000000 400000000 R O,00 R*O00O0.

0116 ROZO0O0O ZODODOOOOODOOOOOO.
0 1.1.7 (S, 00000000000 0UO0OOUOOO,VACS, U, 0 ADDOOODO.
00 1.1.80000 (S, 000,5D>A0 000 (closed set) :< A° € 4l

000 A°:=S—-A0 A0 000 (complementary set).

0119 0000000000,RD[e,b 0000,
ggoobooboo,ggobboooooboboo. bbb oooooboobooa.

00 11100000 (S\4)000,se€e S0 AC SO 000 (accumulationg point)
o seVU e, (U-{s)NA+#¢. 00,0000000 A*000.

0000D000,sO0000000000sOD000O0ODODOOO0 AODDOODODOO.
00000000, 0s0O0000000000,00000 ADOODODODODO.

01.1.11 ROOODOOO0D0000,A=[0,1)u{3} 00000000 A*=0,1].
00 1.1.12 0000 (S,4) 000, A:=AUA°0 SO AD OO0 (closure) 000,

AODOOOOOD,A000000D0O0O0O0O00O00OO0. 0000000, A0O0O0000,0
0000000000 A=A000.00,A0000000000000,00000
o0o00.00000000o0o0o0o0,000 (Coooooooo)oUoUoo.

00 1.1.13 0000 (S,4) 000,S>A0000 & A=A,

(:>)DDDDDDDDD.(<:)DDDDD,ZDDDDDDDDDDDDDDD. aoo
Ud step0O0O0Q0Q0ooOOd:

(1) Ued, UNA=¢ = UNA=¢,
(2) Vse A", W el : seUCA,
(3) A el
o0 1.1.14 00O0O0O (S,il)DDD,SDADDDDDDD,ADDDDDDDD S 0O

ooo0. S>A0000000,A00000000 SODOOO.

go. gouobobbob,0bobbbbbbobd0dooo, oo boobobooog
gogobooboodoooo. gobboooob b, bbooo,bbboOod
ggobooooobo,bogooboooboobooooboooboboooo,b0bood
gooboboooo,oobbooooooboooooo.
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12 OO0OO0OOOOO

gogoo,boooooodgdddoododoou. oo Oo @
000000 Iob0o0ooooo,000D00o0obooooo.

00 1.2.1 0000 (S,4) 0 00 (connected) 00000, 00000000:
VACS,ADO0O0O00O0 = A=¢orS.

ggodooobboobobobboooooodo,ooooobbbobbbbooooooog
00. 0000000 (S,)o0b0,¢000 SOOD00O0O0O0O0OODOOOOOOOO.

01.22RD>A={1,21 000000 (000,A0000000000000).

o0 1.2.3 0000 (S,ﬂ)DDDDDDDDDDDDDDDD,DDDDDDDD:
E”fl,VQEﬂ : S:V1UV2, VlﬂV2:¢, V17£¢7£V2

00000000000000000000,00000000000000.
01.24RD>A=(0,1)U(3,4000000.

0125 RO0ODO0O0O0O0O0O0OO0OO0OO0OO0ODO. OODO,00000DOO0DODOO, O
o000 2000000000.

00 1.26 0000 (S, 000,4D>Y0 000 (opencover) IO, 00000
ooo: S=J V.

Veu
00 1.27 0000 (S,4) 0 00000 (compact) 00000, 00000000:
vy ooo,3vy,...,V,eB: S=VuU---UV,.

gogoououoooooooobbb, 0o oooog,bbbbbbbbooon
Jgo. DD, U UOod@
0000 (0000000000000 00o00UD). Dob0o0oUooOoOo,0000Q
000000000 (000000 0). 0000000000000, 00000000
gd,dobbuoooobbuooon.

o0 128 R*"O>SOO000O,0S000000 «SO00000000000O. OO
ggoboboo,ggobbodooooboooobbboooon.

0129 RO0OD0D0OOD0OOOO.RDO(0,)0D0DODOODOODO.

00 1.2.10 0000 (S,4) 000000,8S>A0000 = (A4,4,)000000.
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1.3 0000

00000000000000000000000000000000,0000000
0.00,00000000,000000000000,000,00,00000,---0
00000000000, 000000. 000000 +00000000,00000
0000000000000,00000000000000000.000,00000
0000000,00000000000000,0000000000,0000.

00 1310000 §,7000,00 f:S—-7T00000,00000000:
TOVYU:D000,S> fY(U)yoooao.

000 f~YU):={zeS|f(x)eU}0 fO00UDOO0OOO. 00000000
00000000000000000000000000000.

00 1320000 X,YOOO, f: X—-YOOOOOoOoooOD «f:X—-Y0O
gogooobooon.

0133RO0OO0OO0OO0 4 00000 Y4, 00000 K OOOO,
(1) id: (R,Y) - (R, ) :z—2 000,

(2) id: (R,Y) — (R,U)):z—2 000000,

(3) id: (R,U) — (R,Y):z—2 000000,

(4) Vf:(R,U) — R, OO0

~— — — —

ggobo,bobboogobobodouo,gpobbuooooobooon.
ob 134 0000000D00OO0DOODOODbDOO.
00135 f:S—»TO00000OOO0OO,S000 =T000O.

0o0oooooO0,0rod0 = SO000o0ooo00O0ooDooU00. booooo
I A I A Y

0 1.3.6 O(2) = {X € My(R) |'X-X =1} 0000D0D0.

O0000,det:0Q2) = {£1}: X —det(X)DDODOOOD. 000000, 0(2) 00
00, M,(R)=R*000000000O0O.

00 13.7 f:S—-»TO000000O0DOOO,SO000000 =T0O0000O.
ooooooToooOoO0O0 == SO000000UDoooooooooOO.

0138 f:S—-RO00,S000000 = f(S)00000DOoUoOOOO.
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14 OO0

00O00,0000000 (S,4), (T,47) 0000000000000, 0000, 0
000 SxT:={(s,;t)|seSteT}0,00 Ugy 0O0DD0D. 00000,000
000000000000 000000000000,0000004Ugx4, 00000
0000000000. 00000000000000000000,00000 (000
0000)000000000000000000000000.

00 1.4.1 00 SO00 4, YOO0,40 YOO OOODODOO,4cYOO0O00.

40 YOOOOOOO000000000000,id:(S,9) —(S,4) 00000000
000.00,00000000,000000000,000000000.

00 1.4.2 0000 Wc29°000,3U: 00 st. WcCcUOoOoOOODODODODOoOoa.

A={Yc2®|WcYOOoYOOO 00000, WCcUOOOOO0O0O0O0000
000,00000000: V0 e A, UCU.

0 1.4.300000 f;:5— (T,4;) (000 i=1,2)000,34: SO000 st. 40
fi,fe000000000000.

00 1.4.4 0000 (S,4g), (T,47) 000, SxT0000,0000000 7, m
D000000000000,000000: m:SxT—S, m:SxT —T.

01450000 (R,YUDODODDO,RxROODODOO R20ODO0O0O00000O0O0O0O.

gogoooogoooooobobobbbbbbooddd0d0d0oooooLoboboD.
O00,00000UsxUp O00D0O00OO0OOOOODOOO0ODOOOODO.

00 1.4.6 2°>20 0000 (base) 10,00000000:
(1) o€, (2) UW =S, (3) YW, Wy €20, 3 C W : W, NW,y = UW.

O00,00000000D0000D00OD0OOO0O0On: U =UwyepwW.

00 1.47 0000 Wc25000, @ :={Ue2°|U0WO0OO00O00}0S
000000 (00000 WOOOOOoooo ooo).

0 1.4.8 W:={(a,d)CR|a<blU{¢p} 0 RODODOO0O0OO.
00. WOOOOO0OOO0Oo,Wwooo00000000000.

00 1.4.9 0000 (S,4g), (T,47) 000, UgxUp 0 SxT 00000000, O
000000 WgxYr)O0ODOOODOODO.
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go,boboobbobooooo,gooooooobbbobobbbbbbbbobooood
goobo,bbdo. bbb, odbbbobbboooobboooobon
ggobobbooooooboooon.

00 1.4.10 0000 S, 7000,00 f:S—>T0O 000 00,00000000:
SoOvU:000, To>f(U):000.

oooooooo,S00oDo00o0o0oo0o0oU0ooD. COooooooooDoooo
ggoboboboooooobuooooobo,booooo.

00 1.4.11 0000000 7:SxT—S0000.
00 1.4.12 (S,4g), (T,447) 000000000,00 (SxT,4syy) 000000,

00.00000,0000000000000,000 (00D0OO0)0O0O0OOODOOO
00 (00000000000 D). 000000000 oO0O,00000000.

00 1.4.13 0000 (S,4) 000,827, Th(AeA)OD0OOODO00000,000
0000000000: YA€A, TonTh#¢. 0000, T:=ToU Uy, Tr) OO D.

00 1.4.14 (S,4g), (T,47) 000000,00 (S xT,4gyp) 000,

15 000

0000,00000000000000000U00UO0O, 000000000 (OO
0,00000). 0000,0000000000000000000O00DO0OOOOO
goo,obobboooooobo.

00 1.5.1 0000 (S,4g), 00 T000,00 f:8—-7T000000.0000,
00 fO00000TO 000 000: Y:={VcT]|f(V)eis}

O00000D00o00oDo0ooo0oDoooDoo00. 00 SODoO00 ~0O00o00o
00oo,00000 §/~0,00000000000000. 0000,

S/ ~={[s]|s€S}, 000 [s]:={xeS|x~s}0sO000000.

o000 n:S—S/~s—[s|000000000. 0000 000000, SO0
ooooo0,~0000 S/ ~000000O0UOODODODO.

01.52RO000000 z~y:=z—yeZOO0000,R/~0 S1000.

ggodooo,googooboooooo,bobboog,boodgdoo,doooog
goobobooooboboooUu. ooobbooooboboooobobooa.
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16 DOOO

ggooobooboogooobobobbodoooooobooobooo. gobbobobooog
ggoobobobobdoooooobb. oooobobobobodooooooboobobooooog
gogobobobooo, bbb bboboooobobobooa.

00 1.61 0000 (S,4) 000,
e SO Ty 00 & V81,$265(81#82),3U€ﬂ:UDDDDDDDDDDDDD.
e SO Ty 00 & Vsy,s0€ 8 (s1#82),Uell: s3€U,s2¢U.
e SO T, 00 OO0 OODODOOOOO
& Vs1,80 €S (81 # 82), UL, Uz € U1 81 € Up, 89 € Ug, Uy NU3 = ¢.
e SO T300 00O DOODO
< (1) OO,
(2) SOVF:000,Vs¢ F,3U,,Usell: selUy, FCUy, Uy NU; = ¢.
SO 7T,00 0000000
< (1) OO,
(2) SO VF, Fpl (FiNE, = ¢), 301, Us € 42 Fy C Uy, Fy C Uz, UyNUs = 6.

goobobooo,b0bodoobobtbooob0boooobbooobbooobbo,od
goodooobooboobobbooooouooooobboobobobo,bbbbbboooooog
ggobobooooooooooon.

00 1.6200000000000,7,,...,7,00000000.000000000
0o, Ty,...,7y0000000.

00 1.6.3 1, =135=15 =1, = 1.
godoobooo,oo0ooooooonn.

00 1.6.4 (S,4) 0 T 00 & Vse S, SO {s}:000.
0165 (S\4) 0000000 IyOooooo,400000.

oo ny=Ts=T =T =1, 000000000000000D000O,T, =1, 0O
ggoobo,bggooboboooobbboooobboooobobo.

00 1.6.6 (S, ) 0000O00OOOO,S>AQ0U0O0U0OOOoOO,S>AQ0O0OO.

00 1.6.7 0000 (S,p) 0,000000000000000 (Ty) 00.
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17 DOOO

ggodooobbooboboboooooooobobobooobbooog,bboodooooog
gogobobbooooboob,bbdodobbboogbbbooo. bbb oo
gogooooo,ooooogoo, 0o, o000 o g
gogooo.

00 1.7.1 0000 (S,4) 000 2€S000,N(z) ={Nei|zeNtO z00
00 000 000.00,MNx)>WB(x)0 20000 00000 O00,000000
O00: VN € N(x), U € B(x) s.t. U C N.

0 1.72 0000 (S,p) 000 z€SO00,00 2000000000
By(2) = {B.(x) | ¢ > 0},
Bo(z) :={B:(x) | € € Qs0},
B3(z) := {Bi/n(z) | n € N}

00 1.7.3 0000 (S,4) 000,00000 000000 000: Vze S, I3B(x):
00000 st V(z) 00000,

ggodooooboobobooodooo,ggooooooboboboobobbboooooog
gooboboodbo. oo, oobbuoo0bobbboooob,bbbooobbo.

00 1.74 0000000000 ODOODO.

00 1750000 (S, 000,4>BV0 00 00000,0000000000:
VYU € i, 3By C B s.t. U =JBo.

00 1.76 0000 (S,4)000,00000 000000 OOO: 3B : 00 s.t. B
goooo.

goooooobboobobbbotoodoo, bbb UoUoOo™
Jyojdd. UL bbbbbbL,0000Od
ggoboboooobobooooboboooobobooooboboooon.

00 1.7.74DOB: 00 ©«VeeS,VNeN(z), 3V €¢Bst. xeU CN.
0178 000000000000 (R ODOOODODOODOO.
00 1.790000000000000,0000000000.

00 1.7.10 (0000O00D0D000) 0000 (S,4) 0 7,-00000000000
00000,0000000000000,3p:50000 st. (S,4)2(S,4,)0.
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1.8 O00O0OO

00 1.8.1 0000 (S, 0000 =mo,z; 000,00 200 2 00O OO0
a:[0,1] —=S:00 st «0) ==z afl)=uz.

00,000 [0,1]00 ROODOUDOUOOODDODOUOOOOOOOODOUOOO. OOOO
000,0 «f0,1) 0000000000000 OD0OOOODOOOOOO.

00 1.8.20000 (S,4) 0 0000 000D0O0O,00000000: Vag,x21 €S,
do:[0,1] = S: 2000 2, 00ODO.

0183 00000000 R*ODD0ODO0ODOO0ODOODOODO,0000. 000 R™O
ggobboooobbboooobobo.

o0 184 000O0ODO,0000O000DOO.

oo, UU. oo d
g, ggbobooogooobooooob. oo, bbb obobobooo. ooooo,
ggoboooooan.

0 1.85 A:={(0,y) eR? | -1 <y <1}, B:={(z,sin(l/2)) eR? |0< 2 <1} DO
O0.0000,R?2>X:=AUuB00000000ODOO0O0.

OO0 o0 BOOO

SINCI)

oo, U000, 0o LoUOog
gogoboboog,gobboooobboooobbood.

0 1.86 D000 OOobOoObOObOO,0boobobooboon.
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2 0OoOogd

ggodoooooo,ooooooooodooooonoonD L. ©
go,0ddgooooooboboobbooooooooooooobooobo, bbb,
g UU,U. 00U UUOod
gogooobo,bgogobbodoobobboooobboooobbbooooboboa.

21 OO0

gogoobo,bbtbdo,ogobobuoooobbboooobDbbuo0o, b bboOoog
gogd,dob.jogooboboboooooobooboo,bgoooboboooooobooon
gooooooooooo.

00 211 VDODROOODDODOOODODOOO.0000 CcV OO (convex)OO, O
0oooooo: Vee[0,1], Vep,co € Cter + (1 —t)ex € C.

00 21.2RO0000000 VOOO,V D {v,v1,...,v} 0 000 00,000
ooooo: {vy —vy,v2 —vo...,v, —voy 0000000000,

00 2.1.3 ROODOO00000 VOOO,CcVO kOO0 (k-simplex) 00,000
0ooo00: Hovg,vy,...,ve}: 000 st. ¢ O {vg,01,...,0,} 000000000,

c O {UO,’Ul,...,Uk}DDDDDDDDDDDDDDDDDDDDDD,DDDDDDD:
aove’ : {vg,v1,...,v} 000000, CCC'O.

00 2.1.4 VD {v,vy,...,0,} 0000000,3C CVst. CO {vg,v1,...,05} O
00000000.0000,C = [v,v,...,v] 000,

oooo,coooo{vg,v,...,u} 00000000000OO0OOOOOOOOO.

0 2.1.5 0-00 [v] O, 00000 [vo] = {vo}0. 1-00 [vo,v1] O, v 0 v; 0000
00 [vg,v1] = {tvg+ (1 —t)vy |0 <t < 1}0. 2-00 [vg,v1,v2] O, vg,v1,v2 000
000000 v, v1,v2] = {agvg + a1vy + agve | a1 + a2 +az =1, a; > 0}0. 3-00
[vg, v1,v2,v3] O, vg,v1,v2,03 DO 00000000 OOOO.

k k
00 2.1.6 k-00 C:=[vg,v1,...,06) D00, C={> aw; |a; >0, Y a; =1}.
1=0 1=0

oooobOo,00b0fdb00b0b0bO0bOobO0obO0obOobOobOoobooo.oooovao
ggooobooobooboodoooooboobodoooo. bbb ooooobboboooog
goobo,0bboooooboga.
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22 0OO0OOO

I e I
ggobobooooboboooooboboooobobobooooboboooobobooog
goooooboooo. oo, gobobobbodoogooboboboooo, oo, oo
ggoboboooobobboooobbboooobbbuooooo.

00 2.2.1 k00 [s] :=[vg,v1,...,06) 000,00 000 OOO:

k
(s) := (vo,v1,y...,08) = {Zaivi € [s] | a; > 0}
i=0

00 2.2.2 k00 [s] := [vo,v1,...,0) 0, 00000 [§) 0 000 000000
00. vo,01,...,v4 O [s§] 0 00 000. {jo,j1,.-.,4n} C {0,1,...,k} 00O,
(V95 Vjy5--.,05,] O [s] O 0000, (vjy,v45,,...,v5,) 0 [s]0 D000 0O00. OO
D000000000000000 (vj,,vj,,-..,v;,) <[] 000000.

00 2.2.3 (1) (s)0 [s§j0000000,[s)0 (s) 000000,

(2) [s]= U(s’)<[s]<5/)?

(3) [§] 00000 (s1), (s2) 000, (s1) % (s3) 00D (Sy) N (s3) = 0.
00 224000 (s5)(i=1,...,m)000,K:={(s;)|i=1,...,m}0 00000
goooo,0oogoogd:

(1) V(s) e K, Y(s') < (s), ()€K,

(2) (s1),(s2) €e K OODO, (s1)N(s2) # 0= (s51) = (s2).

10000000oo 2000000000
U1 ® o V2 o U1

(v1,02)

D000000000000000000,00000 {(v), (v1), (v2), (vo, v1), (v1,v2)}
|:||:||:|, gooono {(’Uo),(Ul),(’U2>,(U(),’U1>,(Ul,’Ug),(’Ul,’Ug),(’UQ,’Ul,Uz)} ogoo. oo
gboobobooboobobooboobobobooobog.

’Uo.

00 2.25 00000 K,LOOO,L0 KO OOOO & Y(s)elL, (s) e K.

00 226 00000 KOOOOOOOO: dimK::(H)laXdim(s).
s)eK

00 2.2700000 KO r-00 K"0O0O0O0O0: K" :={(s) € K| dim(s) <r}.
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23 DO0OOO0OOOOODOO
ggoo,bobbooobbo, bbb bouooobobbooobobobbooa.

00 2.3.1 k-00 (vo,v1,...,0,) OO0O0D00 (vig,Vigs---50i,) O (V5,055 --,05,) O
0000 00000, (o,é1,...,4%) O (jo,jis...,5s) 0000000000, OO
(vo,v1,...,v) 000000000 00000000 000, (vo,v1,...,v) 000.

000, (vy,v1,v2) = (v1,v2,v0) # (v1,v0,v2) OO 0.

00 23200000 KOODO, KOODODODODODODOODODODO ¢+0OD0O0O0O0ODOO
oooo0o00 Hong(s) | ns €Z, s K, sO 00 } 0O, {{vo,v1,v2,...,00) +
(v1, 00,2, ..., v¢) | (vo,v1,...,v) € K} OOODODDODOOOOOOOOOO ¢-0C
(¢-chain group) 000, Cy(K.Z) OOO.

K = {(vo), (v1), (v2), (vo,v1), (v1,02)} 00D, K 0OOOO 1-000000000
gooooooooooodgo:
{n1(vo,v1) + na(vy,vo) + ng{vy, va) + ng{va,v1) | N1, N2, n3,14 € Z}.
gooooooon
{ns({vo, v1) + (v1,v0)) + ne((v1, v2) + (v2,v1)) | N5, 16 € Z}.
000 KO 1-000 Ci(K,Z) = {mi{vg,v1) + ma(v1,v2) | mi,ma € Z} X7 O 7.

00 233000000 (¢+1)-00 (s) = (vo,v1,...,v041) 0 00 (boundary) O
000000 3(s) == S 0(=1)7 (v, v1, ..., Ty, ..., Ves1)-

00v; 0,v; 00000000D0000. 000 (¢+1)-000000¢00000.0O

00, d(vo,v1,v2) = (v1,v2) — (Vo,V2) + {(vo,v1).

00 2340000000 0: K - KOOODODOOOOO 9 : Coi(K,Z) —
Co(K,Z):> ns(s) — > ns0(s) O well-defined (000 00O DO OODO).

00 2.3.5 000 =0.

00 236 00000 KOUOO,0DODOODOUOOO He(K,z)O¢0oOooooooo:
Zy(K,Z) :=Ker 0 ={ce Cy(K,Z) | 0c = 0},
Bi(K,Z) :=Im 0 ={0c| ce€ Ci11(K,Z),
Hy(K,Z) := Zy(K,Z)/By(K,Z).

oooooooood K ={(v), (v1), (v2), (vo,v1), (v1,v2)} OO0, 0000000:
By(K,Z)=27®ZL, Zy(K,Z)=Z®LZDL, Hy(K,Z)=1Z,
Bi(K,7Z) =0, Z1(K,Z) =0, H{(K,Z)=0.
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24 0O0ODOO

goodooooo,ooodidddddUUUU. oo g
ggoobobbodooooobobobboodoooo. bboooooobooobobooooog
gooobo,obobbobbodoooubob. o0, oogobbb,bbbboooog
gogoboboooobbboooobbbooobobbuooo,oobbboooLbb.

00 24.1 00000 KOOO, 8(K):=dmH(K,Z)0 000000 000, O
O, x(K):=>(-1)!g 000000 000.

H(K,z)0OoOoOoOoOooOooOooOoo,000000000, H(K,R)O ROOOOO
gooboboooo,gbboooooobob.

0 242 K = {(’Uo),('Ul),('1)2),(?]0,'1)1),(?]1,'1)2)} ad |:|, ﬁo(K) = 1, ﬁl(K) = O,
X(K)=1.

good,bbobbbooboooooo0ooog,bbbbbbbbbbboboooooO
ud. g, ggoboboooobobooooboboooon.

00 243 KOODODOOO, O KOOODOO -OOODOOO. 0000, KOO
0000000o00000: x(K)=>Y(-1)q.

ggoboobo,ogobobobodboooooooobooboodoooboboo,oboboboog
goooobobb. oo, bbb bb bbb oo UoUoo o, od
oooo 20b00000,000000D00OD0.DOD0DbDOO0DDbDODOODbDOODDbODO,
ggoooo,booooooo:

00 24400000 K, K000, [K]0O [K 00000000, H(K,Z) O
H(K',Z)0DDOD0D0O0O0O0OYI 00000, 00, x(K) = x(K).

ggoobobodooooob bod ooo. bogooooboobobooooooobo,
ggooouoooooooobbbbbbbb;,dddgg, bbb oO O
gogoboboooobooboooon.

0 2.4.5 000 [0,1]000 $*00000000.

00O [0,110,00000 K = {(v),(n), (Vo,n)} 00D0DO. 00000 S' O
0o0ooo0o: K'={(W), (v1), (v2), (vo,v1), (v1,v2), (v2,v9)}. OO OO x(K)=1#
0-x(K)0O0D, (K]0 [K]00000000. 0D0,00000,00 S20000
0 7?0000000000000000.00,00000000000000000
ggoobooooboobooooobooo.
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